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the eseffielemt eun still ht, calculated by adding 

the suivit of this chaseis of Voisin and calculate the addit­

ion of power Which it would necessitate on account of the 

realetanee to the air (about 70 kllegrametere)• Thus would 

be found respectively as miw values of U: 0.070 for the 

Wright and 0.04 3 for the Voisin. But the first solution 

(counting the chassis as eight utilised) May seen mere Just.

Our ooaeluslon is then found to be the sane as that 

of V fort, but for quite different reasons, it is net the 

propulsion which nalOBS the great advantage of Wright, It is

the principle of esnetrustiee of the supporting surfaces.
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